



Alessandra da Cruz Nunes de Almeida - 1033f209*

$$\begin{aligned} \textcircled{2} \quad M\ddot{x} + b(\dot{x} - \dot{y}) + K_1(x - y) &= 0 \\ m\ddot{y} + b(\dot{y} - \dot{x}) + K_1(y - x) + K_2(y - z) &= a \end{aligned}$$

$$x_1 = \dot{x} \quad x_3 = \dot{x}$$

$$x_2 = \dot{y} \quad x_4 = \dot{y}$$

$$x_3 = \dot{x} \quad \dot{x}_3 = \frac{[-b(\dot{x} - \dot{y}) - K_1(x - y)]}{m} = \frac{-b(v_3 - v_4) - K_1(x_1 - x_2)}{m}$$

$$x_4 = \dot{y}$$

$$\dot{x}_4 = \frac{[-b(\dot{y} - \dot{x}) - K_1(y - x) - K_2(y - z)]}{m} = \frac{-b(v_4 - v_3) - K_1(x_2 - x_1) - K_2(x_2 - x_3)}{m}$$

$$\dot{x}_4 = \frac{[-b(v_4 - v_3) - K_1(x_2 - x_1) - K_2(x_2 - x_3)]}{m}$$

$$A = \begin{bmatrix} 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ \frac{-K_1}{m} & \frac{K_1}{m} & \frac{-b}{m} & \frac{b}{m} \\ \frac{K_1}{m} & \frac{-2K_2}{m} & \frac{b}{m} & \frac{-b}{m} \end{bmatrix} \quad B = \begin{bmatrix} C \\ 0 \\ 0 \\ \frac{K_2}{m} \end{bmatrix} \quad C = \begin{bmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \end{bmatrix}$$

$$D = [0]$$

$$\begin{aligned} \textcircled{3} \quad m\ddot{y} + b(\dot{y} - \dot{x}) + K(y - x) &= 0 \\ M\ddot{x} - b(\dot{y} - \dot{x}) - K(y - x) &= u \end{aligned}$$

$$x = \begin{bmatrix} x \\ y \end{bmatrix} \quad \dot{x} = Ax + B$$



$$\begin{bmatrix} \ddot{x} \\ \ddot{\theta} \\ \dot{x} \\ \dot{\theta} \end{bmatrix} = \begin{bmatrix} 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ -\frac{k}{M} & \frac{k}{m} & -\frac{b}{M} & \frac{b}{m} \\ \frac{k}{m} & -\frac{k}{m} & \frac{b}{m} & -\frac{b}{m} \end{bmatrix} \begin{bmatrix} x \\ \theta \\ \dot{x} \\ \dot{\theta} \end{bmatrix} + \begin{bmatrix} 0 \\ 0 \\ 1 \\ 0 \end{bmatrix} u(t)$$

$$\textcircled{b} M\ddot{x} + m\ddot{x} - ml\ddot{\theta}\sin\theta - ml\dot{\theta}^2\cos\theta - mg\cos\theta = u$$

$$\frac{1}{4}ml^2\ddot{\theta} - mg\sin\theta + \dot{x}\cos\theta = 0$$

$$x(t) = \begin{bmatrix} v \\ \theta \\ \dot{x} \\ \dot{\theta} \end{bmatrix}$$

$$\begin{bmatrix} \dot{x} \\ \dot{\theta} \\ v \\ \dot{\theta} \end{bmatrix} = \begin{bmatrix} \omega_1 \\ \omega_2 \\ \omega_3 \\ \omega_4 \end{bmatrix} = \begin{bmatrix} \omega_3 \\ \omega_4 \\ \left(\frac{g - ml\omega_2^2 \cos\omega_2}{M+m} \right) \sin\omega_2 - \frac{u(t)\cos\omega_2}{M+m} \\ \left(\frac{u(t) + ml\omega_2^2 \sin\omega_2 + \frac{3}{4}mg\sin\omega_2 \cos\omega_2}{M+m + \frac{3}{4}ml\cos^2\omega_2} \right) \end{bmatrix}$$

$$\textcircled{c} m\ddot{x} = mg - \frac{kx^2}{v^2} \quad \dot{x}_1 = x_2$$

$$x_2 = g - \frac{kx_1^2}{m v_1^2}$$

$$\frac{d^2 x}{dt^2} + Qx = V \quad \dot{x}_3 = -\frac{Q}{\lambda} x_3 + \frac{1}{\lambda} V$$

$$A = \begin{bmatrix} 0 & 1 & 0 \\ \frac{2kx_1^2}{m v_1^2} & 0 & -\frac{2kx_1^2}{m v_1^2} \\ 0 & 0 & -\frac{Q}{\lambda} \end{bmatrix} \quad B = \begin{bmatrix} 0 \\ 0 \\ \frac{1}{\lambda} \end{bmatrix}$$